1
eqn = wo+h (c[2] w1 +C[1] wio) + Ehz (c[21% w2 +2¢c[1] c[2] w11 +C[1]1% wy) +
1
gh3 (c[21®ws+3c[l]c[2]? w1z +3C[1]%C[2] wo1 +C[1]° wgp) =
1
wo +h (C[1] w1 +C[2] wig) + Ehz (c[11?wp +2c[1] c[2] w11 +C[2]% wpo) +

1
5 h® (c[11% w3 +3c[1]1°c[2] w12 +3 C[1] C[2]% wa1 +C[2]° w3o)

1
wo+h (€C[2] wp +C[1] wio) + Eh2 (c[2]?wz+2c[1] (2] w11 +C[1]%w) +

1
gh3 (cl2]®ws+3c[l]c[2]?wiz+3¢c[1]%C[2] wpr +C[1]%wao) =

1
wo+h (C[1] wy +C[2] wio) + Eh2 (cl1]2wa+2c[1] C[2] wig +C[2]% wao) +

1
gh3 (c[11®ws+3c[1]2¢[2] wiz +3¢C[1] C[2]% wp1 +C[2]3 wap)
Simplify[egn]

h(c[l] -c[2])
(6w +3h (c[1] +c[2]) wa+h?c[1]?ws+h?c[1]c[2] ws+h?C[2]?w3-6uwio+3h?C[1]C[2] wi-
3hc[1]wp-3hc[2] wp-3h?c[1]c[2] wa-h*c[1]?ws -h*c[1]C[2] wao-h?C[2]%wa0) =

Sol veAl ways[eqn, {c[1], c[2], h}]
{{w1 » w10, w2 - w20, W12 - W21, W3 > W30} }
Z+ (X =Y)

Z+ (X =Y)

Series[f[x] =g[x], {X, 0, 3}]

1 1
f[0] +f’[0] X+Ef”[0}x2+gf(3) [0] x3+0[x]%=g[0] +g’[0]x+5g”[0] x2+gg<3> [0] x3+0[x]*



